Equal 9 step grey scaling betweeh*y3\=8.1 andL*y,w=95.9, Yore=0.9, normalisation greyU
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L*0ane8.1,L*0a752.1,L%0an=96.0, Yoan=0.9, Yoa=20.2, Yoanw=90.0, Coay=Yoaw: Yoan=99.9
L*tan=14.0,L*tau=52.1, L*taw=94.7, Yian=1.7, Ytau=20.2, ian=87.0, Gay=Ytaw: Ytan=50.5
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%= 81, g'y= 74 g%= 96, g%5= 94
intended output real output linearized output
L*0a L*Or YOa YOr ;L*a Al*a L*tr Yta (L*tr) 11.091%a AlL*a
960 10 900 1.0: 947 1.0 870 1.0 94.7

: 10.7 9.9
850 0.875 66.0 0.731 84.0 0.867 641 0877 84.8

: 10.7 10.0
740 075 467 0515 733 0.734 456  0.753 74.8

3 10.6 10.1
630 0625 31.6 0.345 626 0.602 311  0.628 64.7

3 10.6 10.2
521 05 202 0217 521 0.472 202  0.502 54.5

: 10.4 10.3
411 0375 11.9 0.124 416 0.343 123  0.374 44.2

; 10.1 10.3
301 025 63 006 315 0.217 6.9 0.246 33.8

3 9.5 10.2
191 0125 28 0.021 220 0.099 3.5 0.12 23.7

3 8.0 9.7
81 00 09 00 : 140 00 17 0.0 14.0

AL*o=11.0  (i=1,2,....8) normalisation: Yeaiy=Yoay <02l Yoref

0autYoref
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